. Period Sate

11. Aroller coaster system has a potential energy of 640,000 J at its hi point. How fast will the
roller coaster car be traveling at half its height?

4 ich it strikes the
12. A stone with a mass of 6 kg falls off a cliff that is 120 m tall. What is speed at which it stri

7,056= 3v?
W:ij gfou”fd)?E: mg\fl PE. + KE, = PE# /HE(_E'S’ > yesa - vz
W= 20m = 648120 7056 tO = .O + KEg , _N;—
4] :‘I‘Smls'l =7056 T 1056 - KES \[2,357_ _
! PE;=mgh KEe=Zmv* 57 s
h =6-98-0 7,0“'"'%(00 v 48.50 m/s
| =07 B
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9. Use the following diagram to calculate the potential energy (PE), kinetic energy (KE),

Date_

energy (ME), and height (h), and/or velocity (v) at each point.

m = 50 kg

O]

@

®
PE=1160T pe=IH0J pPe=-OJ

mechanical

@
PE= 1060 T

K= O T Ke-490T ke[0T ke= 40 T
ME=19607 ME=1960T ME=]960T ME=)960 T

PE=max
KE = mn x
v-Qﬂ/S
A
4m
Im
PE = min
KE =max
AN N
0 PE=m9’h |© PEfmg"\ KE=d o>
-50-9%-4 =50:1%:3 ‘-f“IO:é(c,'o)v""
=quO\T :]Lt703 440 :1Sv’l
KE=OJ ME = PE+KE _H_‘!_Q_:Q_Sv""
a 960 =1470+KE %5 25
ME = PE+KE |-l410 -1470 4L = vE
- 196040 | 420 J=KE T =%
=196¢0J V= 4y3 m}-S

G KE:%MV’*

)

v-ql_'Bm/g v-_?ﬁim/g ha 2.0

v=6m/s

(960 = ‘%(50)'\!2

@I(E-’g'_mvZ PE:mg\n |
KE = ;(so)('(a)z 1060=50-99"h
2 _

KE= 25-36 10607110k

(a0 = 25v *
1960 = 25 v+
s 25
184 = v
Vg4 =\ v*
V= 9-?5%«/;

060 - W40

= 0 Vol = T804

KE CIPD }:EE 5 R0
ME = PE+FK = I
(960 = PE + 960 216n,

~q00 —4q00

io6o = PE

10. A skydiver with a mass of 80 kg is on an airplane flying at an altitude of 1,000 m. Neglecting air
resistance, how fast will the skydiver strike a soft landing target down below?

M= ?Okﬁ
h = 1,000m
9= 4% m|s*
PE = max
, KE=min

PE;=mgh
= %098 |)OOO
= 784,0007

PE; +kE, =
184000 +0 =
184,000 =

kEs= 2 my?
- 784,000 = £ (50) Vg
784,000 = 40 V&z

0O + KE;

Keg
\K’ Hlboo :J—V;?

78’{!000 :ﬁO_V_gz‘

o 4o

(9,600 = \/&7‘
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Energy, Work, and Power Review
Test Dates: Black - 11/16/17, Gold — 11/17/17

Define Potential Energy - Svh) Vﬂ&[ end Yq q
JJS

Name each variable and units in the following equation

PE = mgh

fotertial Eﬂcrqc\ J| | mass Kq qyavif‘j q.xmls?' Iheio\hf m

Ramiro is sitting atthe top of a waterslide that is12m hlgh If his mass is 85 kg, what is h,@_ggt_gpjl_a,l_/
energy? h_ 12m 3_4{3 mls’l ‘ Pt mjh Pb' qqéi(a J
m=5L3 " PE=(@5)@3)(2)

PE="
Define Kinetic Energy - ‘. h f,r? 3 d‘f'% L6 4’(0\4

Name each variable and units in the following equation

KE—1 2
=S mv

Kinekic Energy || mass Kqg | lyelocit< m/s
) v J t

A baby bird falls out of its nest at a velocity of 14.7 m/s. If the bird’s mass is 0.114 kg, what is its

kinetic energy as it hits the ground? 2 . ]
vz 4 Ims KE =5 mV ) ngrz,ai'nduz.azj’
e 0.1 k9 KE~«(0|!?)(147)

Hlégdo you find the mechanical energy of a system? Bu A AOll Hﬁ PE val
KE

The potential energy of a skier going down a mountain slope is 1.5 X 10° J and her kinetic
energy is 1.5 X 105 J. What is the mechanical energy of the skier?

pE= [.5X10° T ME = PE +KE 5105
- 5'3_ = l,S)ﬂlOQ + X
g = 1.5XI0 ME
ME = 3.oo/ooo:r]

ME= 3.0XI10°T



